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Vl Semester B.Com. E*rfif"tion, Sept./Oc t.2oz2
e0t6-17 and Onwards) (CBCS - F + R)

COMMEHCE
Elective Paper - lV

Paper - 6.6 : Cost Management

Time : 3 Hours Max. Marks : 70

lnstruction : Answers should be written completely either in English or
Kannada.

SECTION _ A

Aryorl - i)

1. Answer any five sub-questions from the following. Each sub-question carries
2 marks" (5x2=10)
deJnd d:a$mesde erb wfi-{,dod9d erudozu. {,9 erud-q.rJ 2 eeoErl$o.

a) What is standard costing ?
O{ dr^flmX co6deiJ: ?

b) What is margin of safety ?
deil &:3 aodde&: ?

c) State the benefits of ABC costing.

LiE$trJd $qnd XQr*{d eribdnEddddl sexr.

Give the meaning of fixed cost with an example.
r.od: erorycdd#Cooori 

Ad daf,C esrddl eee.

What is a saies huciget ?

dnooe^ld eocmfc it,i .;odded: ? ;

A product 'y' requires 25 units of standard material at the rate of t 5 per unit.
The actual consumption of material for the manufacture of product 'Y' is 20
units at the rate of t 4 per unit. Calculate material cost variance.
z.od: dc:afrr 'y'o$tb* erusa 63el nlroda{r 25 oilJo&t,$ xiEdJ|, €,9 c:Japt^f ri
t 5 dod r,Jeu'ond. 'y' dmSrdQ wm;nie.r: amladanh drid:dnod xad.>$ 20
oJrraD[,f drg olroetsri T 4dod, ;rodrry d{udenddo$$4dod:b8d:O.

g) state two differences between cost reduction and cost control.

d)

e)

dq dGd ilq dzfl ru*::i*$, rari ;:de*: d* oa*Srl$d.tr,B*tu.

P.T.O.
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SECTIoN _ B
a?&d - ?3

Answer any three of the following. Each question carries 6 marks.
odn{cmddo uhJo$ $EJlPri erudoRr. €,9 €,d4ri 6 etodrlq;b.

2. What is PA/ ratio ? Explain its uses.
eEqJ nDg erd>aad ooddedc ? .add usdod:d1&dorr.

3. State any six ditferences between standard cost and estimated cost.
A{d?^tdld> esocDao dqJf$ odn{oaddo eg& draor*ilgd:o Bexr.

4. From the following data,calculate the amount of variable cost :

Break-even point i{ 60,000

IililtilililIllIffiililriltI

(3x5=18

Profit
Fixed cost

t 3,000
t 12,000

€r dsdod Oddrlgod udenrbd d?Bddb dod:baou:d' :

n$xr.B CIou3c t 60,000- 
or

.oeDqJ .,,_,.,7, t3,000
&d d?^1, ' "''' -"j''( 12,000Q?T

: ..j

5. Using the followingr inf.ofmation calcutate
i) Labour cost variahce.,,,r

ii) Labour rate'varianclei'
iii) Labour efficiency variance
Standard hours per unit - 15

Standard wage rate per hour - < 4
Actual production - '1000 units
Actual hours,'- 15300 hours 

{

Actual wage, rate - t 3.50 per hour
dr dsJnd dn&Sourod ,

i) 9a$ daf drarB ;

ii) 9d: dd draori
iii) 9a$ ;odo$,rd droorBrlgdl dodleao$o.
d,-9 dr;Ed. 1 5 Aq rlor,Srlstr
g{dra0 dd €,,.4 rlor,Sri T 4
EDdd eruo;Cd - 1000 +Bddsb
duEdd rlon3rlqb - 15300 rlot3rl$r
aradd do0 dd - { 3.50 r.oub rlop,3rl
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6. Prepare a flexible budget for production 7500 units al (75Yo capacity) on the
basis of following information.
Production at 1 Ao/o cdpdcity 1000 units
Raw material T 60 per unit
Direct labour t 50 per unit \

Direct expenses t 20 per unit
Factory expenses t 60,000 (30% fixed)
Administrative expenses t 4O,O0O (SOVo variable)

* d$nd eddrleod 7500 olloorfrl9 (ddm 75) r,od: z3d uodrdrod, dqo*>de
do1laoft.

eruao"dd 6gsd 1 0d xna3cd, rdo- 1 000o$roptf rlsb

;od:$rt$ dq;ge otuo0rtrrl { 60

ded d,oo da otuaCIEprl t 50

ded $a$rrl$b d,.9 o$oOufrl T 20 !'

roanrd $a$rrleb T 60,000 (30% t5O1

erd9d $e3;rrl$ T 40,000 (50% ard)

SECTION - C
Asprl- n

Answer any three of the following. Each question carries 14 marks. (14x3=42)
Cn{oaddro d},ocb €,d".rlprl erudorr. {,.9 Ed{ri 14 erodrlq;b.

7. Calculate Break-even point in each of the following independent situations.
i) Fixed cost t 10,000, PA/ ratio 5O7o

ii) Fixed cost { 15,000, contribution ( 3 per unit
iii) Margin of safety 20Y" i

iv) Fixed cost { 9,000, variable cost to sales ratio 60%
v) Actual sales { 50,000, margin of safety 3OY"

vi) Profit t 30,000, margin of safety 2Oo/o, variable cost is 70% ol sales.
vii) Margin of safety T 70,000, actual sales t 4,00,000
viii) Actual sales 10000 units, margin of safety 2500 units.
* d$nd {,edoodc iodqlrdo. Bdcr5.9 Eodrddc4 dodc&Eoqro. adddgc
iigdodo9a

i) Ad d4{ 10,000, enqJ dncnt^} dod)am SC,/o

ii) r6d dqt 15,000, drodrri (contribution) t 3 r.ocb olroe["frl
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iii) *eub &:8 (Margin of safety) ZC)/o

Ililtlll]llilil tilillflt ililltl

Cost pool

Material procurement
Machine set up
Maintenance

Quality control
Machinery

dd iorLddaJit

xad>D $oea

o$€ 5)Fd

0dreipad
rbeodogOuro{

odro$dsb

Budgeted Cost driver
overhead (t)

4,05,000 No. of orders
3,59,000 No. of setups

Budgeted
volume

900
450

eouroto dnderod

dOdJara

900

450

3000

7001,40,000 ae{#rid io$

dt^l urae;d
8J

e:dojr ioal-.4P d

noddrld doal^
QO

odrdd dotirld>

iv) ,t5d dz{T 9,000, uderori:d (variable) daf dncnt^ld d.:eOd enbrod 60A

v) aadd dnrne^i { 50,000, dea$ tu.B 30%

vi) enql t 30,000, dJd: a)A 20%, udenrbd dafldnoao.]d d)ee, 7Oo/o

vii) deub tu.3 t 70,000, "Jadd dnoaos t 4,00,000

viii) aoid dncno; 10000 oJ]o0asrlsb, ded) tue 2500 efiooutrrl$.

8. The budgeted overhead and cost driver volumes of Venkat Ltd., are as follows.:

2,40,000 Maintqnance hours 3000
1,40,000 No. of inspections 700
4,80,000 No. of machine hours 24000

The company has produced a batch of 2500 components of 'A' its material cost
was { 1,10,000 and labour cost was { 1,90,000. The usage of activities of this
batch are as follows :

Material order - 21 , setups of machine - 1 9, maintenance hours - 510, no. of
inspections 26, machine hours - 1300.

Calculate cost driver rates that are used for computing appropriate amount of
overhead to this batch and ascertain the cost of the batch of the components
using activity based costing.

dodor Otu$cf iodo$ eo6'rao dndennd:d d:eef d{ $t d{z.ood dodrora

dr dddodo8d:

eodoco dndend
;besc dq G)

; 4,05,000

3,59,000

2,40,000

4,80,000 o3:o$rld io{ riouidgb 24000

dodOofr rod: udQo$O_ r-ocb dodd 2500 eodd*bdo. 'A' d6?frr dolno,qrd. edd
xnablrld aDz,Srr { 1 ,10,000 $* draO $L$r { 1 ,90,000. erudoSorndq% dnildr,gdrld
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$oe6rl$ (t) d.Joo (o
9,600 3,000

9,000 3,000

9,200 3,200

10,000 3,600

1o,4oo 4,000
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1,700

1,900

2,000

2,2A0

2,300

&e$dLirl$b (t)
1,700

1,900

2,000

2,200

2,300

add & dddodo3d:

Fad:D *r{rd$ - 21 , 0d>€ ,"Fd - 19, Mrd# rlotirlsb - 510, e*{eaa doeis - 26,

o$€ erudoSoerl dre - 1300 rlonidgt.

daf emod dd $dl dcm$r dolnodo$O;J d>eo d{dqaJmdp":f tlo.od $s$r
apadood dod>eoaooo.

9. A manufacturing company is expecting to have T 75,000 cash in hand on

14-2021and it requested you to prepare a cash budget for three months April

to June 2021. The following information is supplied to you :

Months Sales (t) Purchases G) Wages (T) Overheads ({)

February 14,000

March

April

May

June

15,000

16,000

17,000

18,000

9,600

9,000

9,200

10,000

10,400

3,000

3,000 
,

3,200

3,600

4,000

Other information :

a) Period of credit allowed by suppliers is two months.

b) 25"/oof sales are,,for cash and period of credit allowed to customers is one

month.

c) Delav in payment of wages in one month and overhead is two months.

d) lncome tax { 25,000 is to be paid in June 2021.

1-4-2a21 dod: dpdOoo ogdorpd s% ({d>o-ed ddufr) { 75,000. ager-?uoor
2021d ddrad *ocb .9orl9 dd& duorld dgdqdqlDoi$ ddnd dD&.ao$d)4

&ede>nd.
gorlsb dnuou (t)

dgao 14,000

d>urr 15,000

aq,e, 16,000

dre 17,000

a,ooc 18,000

-5-
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q,dddro8o.grl$b:

a) {pdrEcndcb odd> Borlg xae.rd cde OeGcbad.
b) de. 25 dd& dnuoul abe ng,d8ort uocb Borlq;b xiaod elde CIedennd.
c) doo aad.B r"od: 8ofig eodd ubdl ubeqr d?*dg and8 sodd odu*: gorlqb.
d) umoJ: dori t 25,000 xoo6 zo21d il)do$o_aadonerrRd.

10. The information regarding composition and the weekly wage rates of labour
force engaged on a job scheduted to be completed in 60 weeks are as follows :

StandardTypes of
[iUo* No. of

workers
Skilled Ts
Semi Skilled 45
Unskilled 60

&dord aaatr{,
esd-uDdet d uaturd
dade"rrd&d ro&:rd

Weekly wage No. of Weekly wage
rate per hour (Q workers rate per hour (e

60 70 70
40 30 50
30 do 20

The work completed in 62 weeks.
Calculate :

a) Labour cost variance
b) Labour rate variance
c) Labour etficiency variance
d) Labour mix variance
60 aadddo- abrRgi:rd e,oab derdd aadd doo adddsb d, de#odogd:

ddneoadd d;ae)rl$, no4 mdd droO 8.9

9)dAJeJ
-,

fostr fi)
drdorl$ !orl, oadci dJoO g.g

rlot3t{ (t)
70
50

20

70
30

80

60
40

30

75
45

60;
Eerd$ 62 amdddO_d>q o$rlooB&.
dodrEoBolro:

a) aoarrd dafldor*
b) aarrd dd {,*ri
c) aarrd d{d drcord

d) roa:rd al$ea drori.
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1 1 . A) Prepare a flexible budget for overhead expenses on the basis of the following

data and determine the overhead rates atT}o/o,8A% and 90% capacity.
Particulars At g0% capacity (T)

Variable overhead

lndirect labour 12,OOO

Stores including spares 4,000
Semi-variable overheads

Repairs and maintenance (60% fixed) 2,000
Fixed overheads

Depreciation 11,OOO

lnsurance 3,OOO

Salaries 1O,OOO

Total overheads 62,000

Estimated Direct Labour hours 1,24,000 hrs.

B) From the following particulars calculate :

i) Material cost variance

ii) Material price variance

iii) Material usage variance

Quantity of material purchased 12000 uhits
l1

Value of material purchased t 36,000

Standard quantity of material i

Required material standard per unit of finished output 12 units

Standard price of material T 1O per unit.

Closing stock of material S00O units

Finished output during the year 820 units
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A) * dddod dDbeo$ uqndd d>ed 7Oo/o,80% d:dl90% o$o$ so$drd d.:eq>

daf aDz$rrisb 6Drto d:ew dqddrlddluocna,: dndend $e ded d,ee douiri

dod:baogro:

addrlC)

udenrbd ddrlC)tl

ddoed doo
C.\

med: (Stores) dr* aa qarldsb

erd udsD$d *eep dqd$
aqg" dj (30% R)d)

odeo ** odrdd (60% Rad)

nd dLld$bea
ddde

ad)
dedddsb

?.8) &eer) d?3d$bc.J u
erocJDco dndend ded doo dotirl$ 1,24,000 rtotizisb.

B) €r fdnd adddeod dodr&aouo:

i) rodrl dt^fdrgrd

ii) ;odr1 dd dori
iii) xo$1 a#d drord

:odllrld a)oea, gidneo 1 2000 o1roeotrd$b

noubryo*l e)oe@ de, t 36,000 '

rod> CBdd wqddrl erddra{>d saabrydd ${-gdnea 12 o$ra0a^fdsb

saatlloUr A{dd d.9 ouoor,s"rl { 10

rodlloO ego.9d) cDBd> 5OO0 o1roOlir"rlst)

{a ento;Cd 320 oilro0t,trrlsb €r ddrdo.,

de. 80 xaatlCrrd* (t)

12,000

4,000

20,000

2,000

11,000

3,000

10,000

62,000


